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begin integer N, R, M, ERROR;
integer array C(1: 99], S{0: 99];
procedure MTHCOMBINATION;
begin integer I, J, K, T1;
integer array T[0: 99];
if M=S[N—R) then ERROR:=1 else
begin ERROR:=0;
M:=S§(N-R]-1-M;
for J:=0 step 1 until N—R do
T} :=S801);
K:=N-—R;
for 1:=1 step 1 until R do
begin T 1:=0;
for J:=0 step 1 until K do
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comment driver program;
begin integer I, CI;
N :=READINTEGER;
R:=READINTEGER;
S(0) :=1;
for I1:=1 step 1 until (N—
S(I):=S{I-1J*(I+R)+I;
L1:
M :=READINTEGER;
PRINTINTEGER (M);
MTHCOMBINATION;
if ERROR=0 then
begin
CI:=0;
for I:=1 step 1 until R do
CI:=CI*10+C(I);
PRINTINTEGER (CI)
end else PRINTSTRING (* ERROR’);

R) do

CRLF (1); goto L1
end
end
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begin integer N, R, NUMBER, ERROR, CNR;
integer array C[1:99];
procedure NRCOMBINATION ;
begin integer I;
CNR:=N;
for 1:=2 step 1 until R do
CNR:=CNR*(N—-I+1)+I
end;
procedure COMBINATIONNUMBER;
begin integer I, J, X;
integer array B(0:99];
ERROR:=0; B{0]):=—-1;
for 1:=R step —1 until 1 do
begin
B(R-I+1):=N-1-C{1];
if BLR—I+1)J<B(R—1I] then ERROR:=1
end;
if N<B(R] then ERROR:=1:
if ERROR=0 then begin
NUMBER:=CNR-1;
for I:=1 step 1 until R do
if B(IJ=1I then
begin if B{I]=1I

then NUMBER :=NUMBER-—1
else begin
X:=I+1;
for J:=2 step 1 until B(I]-I do
X:=X*(I+1)+J;
NUMBFR :=NUMBER—-X
end

comment driver program;
begin integer I, CI, Q;
N :=READINTEGER;
R:=READINTEGER;
NRCOMBINATION;;
L1: CI:=READINTEGER;
PRINTINTEGER (CI);
for 1:=R step —1 until 1 do
begin
Q:=CI+10;
C[I) :=CI-Q*10;
CI:=Q
end;
COMBINATIONNUMBER;
if ERROR=0 then
PRINTINTEGER (NUMBER)
else PRINTSTRING (‘ ERROR’);
CRLF(1);
gotoL1l
end
end




